
b3b2b2b2b2

b1

Nested
a2

a1a1a1a1a1a1a1a1a3

72" 1829
(TYP)

6 Spaces
@ 50"[1270]
=300" 7620

3 Spaces @
75"[1905]

=225" 5715

75" 1905

4 Spaces @ 150"[3810]
=600" 15240

25°

96" 2438

Ground

ELEVATION VIEW

a5

LineDownstream Anchor

A

A

C

C

K

K

E

E

J

J

B

B

D

D

33

PLAN VIEW

1 2 3 4 5

6

7 8

9

10

11

12 13

14 15 16 17 18 19

20 21 22

23 24 25 26 27 28 29 30 31 32

Impact
2270P

81 1/16" 2059

68320224'-1 3/4"

52 3/4" 1339

and tamped with soil.
(4) Downstream anchor posts are placed in 3' [914] holes, then backfilled 
(3) Critical region is located between post nos. 7 and 24.

Notes: (1) Test shall be performed according to test designation no. 3-21 using 
MASH 2016 criteria.

(2) The impact location is 8' [2,438] upstream from the leading edge of the 
box beam.

W-Beam Transition

SCALE: 1:280

NYBWT-3_R2

System Layout

1 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3



32" 813 32 3/8" 822

32 5/8" 829

32" 813 32 3/8" 822

32 5/8" 829

30 3/8" 77230" 762

34 5/8" 87932 5/8" 829

32 3/8" 822

32" 813

Line
Ground

a4
c1

NOTE: Post Nos. 10-11, and 13-14 
are not connected to rail and do not 

have backup plates (part a4)

a1

SECTION C-C
Post Nos. 3-6, 8, 10-11, 13-14

c2

H

Note: (1) Guardrail bolts (parts j6 and j9) on the upstream side of the web.
(2) W-Beam back up plate (part no. a4) used on Posts 26, 28-32.

W-Beam Transition

SCALE: 1:22

NYBWT-3_R2

W-Beam Post Sections

2 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

c2

Post Nos. 7, 9, 12
NOTE: Post No. 7 is not 

connected to rail

c1

SECTION D-D

a1
I

k13

j9

SCALE 1:3

connected to rail
Post No. 7 is not 

DETAIL I

k1

i2

a1

c2

SECTION A-A
Post No. 1

a1

c1

End 
Post 
Support

F
32 3/8" 822

82932 5/8"

32" 813

c2

SECTION E-E
Post No. 15

c1

a1
J

k13

j9

SCALE 1:3

not connected to rail
Post Nos. 10-11 and 13-14 are 

DETAIL H

k1

i2

a1

c2

SECTION B-B
Post No. 2

a1

c1
a4

G

k4

SCALE 1:3
DETAIL F

i2

j6
k14

a1

k4

DETAIL G
SCALE 1:3

j6

a4

a1

i2

k14

See Note 2

DETAIL J
SCALE 1 : 3

a2

i2

j9
k13

k1

Nested



27" 686

37 15/16" 963

70 3/8" 1788

27 1/16" 687 27 1/16" 687

37 15/16" 963

27" 686

Downstream Anchor

SECTION J-J

(See Sheet 25)

Ground
Line

j1

k7b3

Post Assembly
(See Sheet 20)

b4

c1

Downstream Cable 
Anchor Assembly A-B

(See Sheet 22)

Downstream 
Cable Assembly

c2

W-Beam Transition

SCALE: 1:15

NYBWT-3_R2

Box Beam Post Sections

3 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

c1

SECTION K-K

j8b2

c3

k3

j7

k2

c2

Note: (1) Box beam post bolts (part j7) on the upstream side of 
the web.



145 3/16" 3688
APPROXIMATE

1" 26

44" 1117

W-Beam Transition

SCALE: 1:28

NYBWT-3_R2

Upstream Anchorage Details

4 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

ELEVATION VIEW

Post No. 2Post No. 1

Line
Ground

(See Sheet 12)

a3

a4

Upstream Anchor Assembly

a1M

PLAN VIEW

i3

(See Sheet 12)
Upstream Anchor Assembly

a3

L14°

33" 838

1" 26

44" 1117

145 3/16" 3688
APPROXIMATE



Notes: (1) Rail and attachment hardware hidden in Detail L for clarity.
(2) Bolts on the end post support should be torqued to 100 ft-lb (+20, -0) 

[135.6 Nm (+27.1, -0)] after post is driven.

DETAIL M

j10

k5

DETAIL L
END POST SUPPORT

Post No. 1

j5
k5 c4

c1

3" 76

W-Beam Transition

SCALE: 1:5

NYBWT-3_R2

Splice Detail

5 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

REV. BY:

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

NY Box Beam to Weak Post

DRAWN BY:

End Post Support and W-Beam 

Test No. NYBWT-3



32" 813

30" 762

34 5/8" 87932 5/8" 82932 5/8" 82932 5/8" 829

Post No. 11 Post No. 15Post No. 14Post No. 13Post No. 12

ELEVATION VIEW

W-Beam Transition

SCALE: 1:28

NYBWT-3_R2

Rail Elevation Transition Details

6 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

32" 813

30" 762

34 5/8" 87932 5/8" 82932 5/8" 82932 5/8" 829



360" 9144
To Anchor Center

60" 1524
To Anchor Center

1" 25

72" 1829 72" 1829 72" 1829 72" 1829 72" 1829 72" 1829

W-Beam Transition

SCALE: 1:50

NYBWT-3_R2

Transition Layout

7 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3
Note: (1) The turnbuckles in the transition anchor cable assemblies should be 

approximately 5' [1.5m], 10' [3.0m], and 15' [4.6m] from the transition cable 
bracket assembly, with the 5' [1.5m] spacing on the cable nearest the 
travelway.

Post No. 15 Post No. 16 Post No. 17 Post No. 18 Post No. 19

Post No. 20 Post No. 21

P

Ground
Line

a2

ELEVATION VIEW

Nested

(See Sheet 13)

a5

Transition Anchor Assembly

b1j10 b2

O

f6

PLAN VIEW

(See Sheet 13)
Transition Anchor Assembly

k6(See Sheet 15)Transition Anchor Cable Assembly
(See Note 1 and Sheet 25)

Transition Cable 
Bracket Assembly

N
11°

36" 914
30512"

36" 914

360" 9144
To Anchor Center

60" 1524
To Anchor Center

1" 25

72" 1829 72" 1829 72" 1829 72" 1829 72" 1829 72" 1829



W-Beam Transition

SCALE: 1:8

NYBWT-3_R2

and Box Splice Details

8 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

REV. BY:

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

NY Box Beam to Weak Post

DRAWN BY:

Transition, Post Attachment, 

Test No. NYBWT-3Note: (1) Splice plate with tack welded nuts used for testing purposes.
   A splice plate with tapped holes may be used instead as
   noted on sheet 30.

c3

k2

DETAIL O

k2

k3

j7

c1

j8

Nested

a2

DETAIL N

j7

Cable Assembly

Post No. 17i1

j4
k5

(See Sheet 25)

j4

j10
a5

b1
j4

k6

Transition Anchor 

k6k3

k5

k12

DETAIL P

b4
j3

k5

b4
j3

k12



W-Beam Transition

SCALE: 1:18

NYBWT-3_R2

Details

9 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

REV. BY:

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

NY Box Beam to Weak Post

DRAWN BY:

Cable Bracket Connection 

Test No. NYBWT-3

PLAN VIEW

(See Sheet 15)

SCALE 1:8
ISOMETRIC CROP VIEW

Bracket Assembly

k6

Transition Anchor Cable Assembly
(See Sheet 25)

Transition Cable 

Transition Anchor Assembly
(See Sheet 13)

ELEVATION VIEW

Note: (1) When constructed, the threaded rods on the Transition Anchor Cable 
Assembly should have a nearly perpendicular bearing on the Transition Cable 
Bracket Assembly.



24 3/4" 629

28 1/16" 713
22 5/8" 575

W-Beam Transition

SCALE: 1:25

NYBWT-3_R2

Downstream Anchorage Details

10 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

PLAN VIEW

14" 356
2 1/2" 64

1024"

1024"

14" 356

Post No. 31Post No. 30

R

Post No. 32

(See Sheet 25)
Cable Assembly
Downstream

ELEVATION VIEW

Downstream Anchor
Post Assembly
(See Sheet 20)

Q

24 3/4" 629

28 1/16" 713
22 5/8" 575



W-Beam Transition

SCALE: 1:6

NYBWT-3_R2

Details

11 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

REV. BY:

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

NY Box Beam to Weak Post

DRAWN BY:

Downstream Anchor Mounting 

Test No. NYBWT-3

Downstream
Cable Assembly
(See Sheet 25)

c1

j1

DETAIL R

k7 j8

Backside of 
Post Flange

Configuration A
(See Sheet 22)

b3

k7

k3

j7

c3

Downstream Cable 
Anchor Assembly

k2

k5

j2

DETAIL Q (See Sheet 22)

b4k5 j3

Configuration B

b3

Downstream Cable 
Anchor Assembly

k12

b2



4 1/2" 1143" 76
(TYP)

16" 406

15" 381

W-Beam Transition

SCALE: 1:18

NYBWT-3_R2

Upstream Anchor Assembly

12 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

f2

ELEVATION VIEW

f4

f3

f6

f5

f5

f1

3" 76  CLR
(TYP)

Item 
No. QTY. Description Material Specification Treatment Specification

- 1 Upstream Anchor Assembly - -

f1 1 Concrete
Pre-Cast Class A*                            

Min. f'c = 3,000 psi [20.7 
MPa]                   

NE Mix 47BD
-

f2 1 #3 [10] Bar, 106 5/8" [2,708] 
Long Unbent

ASTM A615 Gr. 60 or 
A996 Gr. 60

Epoxy-Coated (ASTM 
A775 or A934) **

f3 1 #3 [10] Bar, 117 5/8" [2,988] 
Long Unbent

ASTM A615 Gr. 60 or 
A996 Gr. 60

Epoxy-Coated (ASTM 
A775 or A934) **

f4 1 #3 [10] Bar, 127 1/8" [3,229] 
Long Unbent

ASTM A615 Gr. 60 or 
A996 Gr. 60

Epoxy-Coated (ASTM 
A775 or A934) **

f5 4 #3 [10] Bar, 39" [991] Long ASTM A615 Gr. 60 or 
A996 Gr. 60

Epoxy-Coated (ASTM 
A775 or A934) **

f6 8 3/4" [19] Dia. UNC, Hooked 
Anchor J-Bolt and Nut

J-Bolt - ASTM A307 Gr. C            
Nut - ASTM A563DH

ASTM A153 or B695 
Class 55 or F2329

* If cast in place, follow Section 501 - Portland Cement Concrete - General of the
  NY state standards.
** Epoxy-coating not necessary for testing purposes.

f4

PLAN VIEW

f6

f2

f3

f5

36" 914

91436"

76230"

30" 762

f5

PROFILE VIEW

f6

f2

f3

f4

f5

30" 762

45718"

52420 5/8"

512"

45" 1143



9 3/4" 2481 1/2" 38
(TYP)

16 1/2" 419

13 5/8" 3462 3/4" 70
1 1/2" 38

W-Beam Transition

SCALE: 1:18

NYBWT-3_R2

Transition Anchor Assembly

13 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

Item 
No. QTY. Description Material Specification Treatment 

Specification

- 1 Transition Anchor Assembly - -

f1 1 Concrete
Pre-Cast Class A*                           

Min. f'c = 3,000 psi [20.7 
MPa]                   

NE Mix 47BD
-

f2 1 #3 [10] Bar, 106 5/8" [2,708] 
Long Unbent

ASTM A615 Gr. 60 or A996 
Gr. 60

Epoxy-Coated (ASTM 
A775 or A934) **

f3 1 #3 [10] Bar, 117 5/8" [2,988] 
Long Unbent

ASTM A615 Gr. 60 or A996 
Gr. 60

Epoxy-Coated (ASTM 
A775 or A934) **

f4 1 #3 [10] Bar, 127 1/8" [3,229] 
Long Unbent

ASTM A615 Gr. 60 or A996 
Gr. 60

Epoxy-Coated (ASTM 
A775 or A934) **

f5 4 #3 [10] Bar, 39" [991] Long ASTM A615 Gr. 60 or A996 
Gr. 60

Epoxy-Coated (ASTM 
A775 or A934) **

f6 8 3/4" [19] Dia. UNC, Hooked 
Anchor J-Bolt and Nut

J-Bolt - ASTM A307 Gr. C            
Nut - ASTM A563DH

ASTM A153 or B695 
Class 55 or F2329

* If cast in place, follow Section 501 - Portland Cement Concrete - General of the
  NY state standards.
** Epoxy-coating not necessary for testing purposes.

f4

PLAN VIEW

f6

f2

f3

f5
76

(TYP)

91436"

76230"

91436"

30" 762

3"

2 3/4" 70

f5

PROFILE VIEW

f6

f2

f3

f4

f5

45" 1143

f2

ELEVATION VIEW

f4

f3

f6

f5

f5

f118" 457

52420 5/8"

3" 76  CLR
(TYP)



1 1/2" 38
(TYP)

27 3/16" 691

27 3/16" 691

12" 305

1 1/2" 38
(TYP)

24 7/16" 621

24 7/16" 621

12" 305

18" 457

1 1/2" 38
(TYP)

29 9/16" 751

29 9/16" 751

12" 305

W-Beam Transition

SCALE: 1:12

NYBWT-3_R2

Concrete Anchor Components

14 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

Part f3
Part f2

Part f6
SCALE 1:8

3/4"-10 UNC
4 1/2"

4"

114

102

3" 76

Bill of Bars

Bar QTY.
(Per Anchor) Size Total Unbent 

Length Material Treatment

f2 1 #3 [10] 106 5/8"[2,708] ASTM A615 Gr. 60 
or A996 Gr. 60

Epoxy-Coated (ASTM 
A775 or A934)

f3 1 #3 [10] 117 5/8"[2,988] ASTM A615 Gr. 60 
or A996 Gr. 60

Epoxy-Coated (ASTM 
A775 or A934)

f4 1 #3 [10] 127 1/8"[3,229] ASTM A615 Gr. 60 
or A996 Gr. 60

Epoxy-Coated (ASTM 
A775 or A934)

f5 4 #3 [10] 39"[991] ASTM A615 Gr. 60 
or A996 Gr. 60

Epoxy-Coated (ASTM 
A775 or A934)

Note: (1) Epoxy-coating not necessary for testing purposes.

Part f4

Part f5

39" 991



W-Beam Transition

SCALE: 1:4

NYBWT-3_R2

Assembly

15 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

REV. BY:

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

NY Box Beam to Weak Post

DRAWN BY:

Transition Cable Bracket 

Test No. NYBWT-3

1 1/2"[38]

PROFILE VIEW

1 1/2"[38] 1/4"[6]

1/4"[6] 2"[51]

1/4"[6] 2"[51]

1/4"[6]

1/4"[6]

Item 
No. QTY. Description Material Specification Treatment 

Specification

- 1 Transition Cable Bracket Assembly - ASTM A123

g1 1 14"x9"x1/2" [356x229x13] Cable Anchor 
Base Plate ASTM A36 -

g2 4 3"x2"x1/4" [76x51x6] Cable Anchor 
Gusset ASTM A36 -

g3 1 14"x3 1/2"x1/2" [356x89x13] Cable 
Anchor Top Plate ASTM A36 -

ELEVATION VIEW

3 15/16" 100

6 5/16" 160

PLAN VIEW

14" 356

1174 5/8"

953 3/4"

1174 5/8"

9" 229

g4

ISOMETRIC VIEW

g1

g3 g2

g2

g2

Bent After 
Installing 
Cable



2" 51

1/4" 6
(TYP) 3/8" 10

W-Beam Transition

SCALE: 1:4

NYBWT-3_R2

Components

16 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

REV. BY:

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

NY Box Beam to Weak Post

DRAWN BY:

Transition Cable Bracket 

Test No. NYBWT-3

ELEVATION VIEW
Part g3

R1/2"

4"

13

35614"

763" 1024"

45°

102
1 13/16" 47

Part g4

Note: (1) Part g4 total unbent length is 16 3/8" [416]. Bend after installation.

14" 356

1/4" 6

19

37514 3/4"

3/4"

1 1/8" 29

PROFILE VIEW

1/2" 13

3 1/2" 89

PROFILE VIEW

3" 76

1/4" 6

ELEVATION VIEW
Part g2

SCALE 1:2

13
291 1/8"

381 1/2"
502"

1811/16"

131/2"

1/2"

5/16" 8

ELEVATION VIEW
Part g1

9" 229 1/2" 13

PLAN VIEW

381 1/2"

35614"

702 3/4" 381 1/2"

381 1/2"

381 1/2"

381 1/2"

381 1/2"

381 1/2"

381 1/2"

1" 25
(TYP)



4" 102

W-Beam Transition

SCALE: 1:15

NYBWT-3_R2

Post Assemblies

17 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

PLAN VIEW

PROFILE VIEW

1/4"[6]

65" 1651

c1

ELEVATION VIEW

Post Assembly

c2

1/4"[6] 2"-10"[51-254]

24"

2"-4"[51-102]

610

8" 203

Item 
No. QTY. Description Material Specification Treatment 

Specification

- 33 Post Assembly - ASTM A123

c2 1 24"x8"x1/4" [610x203x6] Soil Plate ASTM A36 -

c1 1 S3x5.7 [S75x8.5], 65" [1,651] Long Post ASTM A36 -



W-Beam Transition

SCALE: 1:6

NYBWT-3_R2

Post Components

18 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

PROFILE VIEW

1/4" 6

ELEVATION VIEW
Part c2

SCALE 1:8

24" 610

8" 203

ELEVATION VIEW

Part c1

3 1/2" 89

165/8"
5/8" 16

103/8"

3/8"
THRU

10

165/8"

5/8"
THRU

16

103/8"

103/8"

893 1/2"

763"

381 1/2"

381 1/2"

2 1/2" 64

PLAN VIEW

76

602 3/8"

3" 3/16" 4

PROFILE VIEW

65" 1651



2 1/4" 57

W-Beam Transition

SCALE: 1:4

NYBWT-3_R2

Post Components

19 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

PROFILE VIEWELEVATION VIEW
Part c3

763"

1144 1/2"

7/16" 11 X 3" [76] SLOT
PLAN VIEW

8" 203

PROFILE VIEW
102

763"

4"

1/4" 6

ELEVATION VIEW

Part c4

833 1/4"

381 1/2"

602 3/8"

13/16" 21
(TYP)

5" 127

893 1/2"

3/8" 10

PLAN VIEW

1" 25

1 15/16" 49

5/8" 16

2 1/2" 64



W-Beam Transition

SCALE: 1:12

NYBWT-3_R2

Assembly

20 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

REV. BY:

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

NY Box Beam to Weak Post

DRAWN BY:

Downstream Anchor Post 

Test No. NYBWT-3

Item 
No. QTY. Description Material Specification Treatment 

Specification

- 2 Downstream Anchor Post Assembly - -

d1 1 W6x15 [W152x22.3], 72" [1,829] Long Post ASTM A992 or ASTM 
A572 Gr. 50 -

d2 1 20"x14"x3/16" [508x356x5] Plate ASTM A36 -

d3 1 6 3/16"x4"x1/2" [157x102x13] Plate ASTM A36 -

d4 2 6 1/4"x4"x1/2" [159x102x13] Plate ASTM A36 -

d5 1 6 3/16"x6"x1/2" [157x152x13] Plate ASTM A36 -

d4

d1

d5

d3

d2

1/4" [6]

PROFILE VIEW

d1

d4

d2

1/4" [6]

1/4" [6]
d3

d5

d1

ISOMETRIC VIEWS

d4

1/4" [6]

d2

1/4" [6]

3/16" [5]

Ground
Line

d3 d5

d2

ELEVATION VIEW

d1

3/16" [5]

4"

1168

70 3/8" 1788

46"

102

1 7/8" 48



W-Beam Transition

SCALE: 1:8

NYBWT-3_R2

Components

21 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

REV. BY:

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

NY Box Beam to Weak Post

DRAWN BY:

Downstream Anchor Post 

Test No. NYBWT-3ELEVATION VIEW

Part d1
SCALE 1:15

72" 1829

(TYP)
712 13/16"

2 7/8" 73
(TYP)

ELEVATION VIEW
Part d2

4" 102

35614"

40616"

50820"

6" 152
PROFILE VIEW

3/16" 5

PLAN VIEW

1/2" 13

ELEVATION VIEW
Part d3

70

1576 3/16"
793 1/8"

4" 102

2 3/4"

1 1/4" 32

PLAN VIEW

1/2" 13

PLAN VIEW

1/2" 13

ELEVATION VIEW
Part d4

79

1596 1/4"

983 7/8"

4" 102

3 1/8"

3/4" 19

ELEVATION VIEW
Part d5

6" 152

6 3/16" 157

PLAN VIEW

6" 152

6" 152



W-Beam Transition

SCALE: 1:4

NYBWT-3_R2

Assembly Details

22 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

REV. BY:

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

NY Box Beam to Weak Post

DRAWN BY:

Downstream Cable Anchor 

Test No. NYBWT-3

 1/4" [6]

e1

PLAN VIEW

e3

e2

1/4" [6]

4 1/16" 103

913 9/16"

512"

251"

722 13/16"

441 3/4"

823 1/4"

2 7/8" 72

 1/4" [6]

e1

PLAN VIEW

e3

e2

1/4" [6]

2" 51

722 13/16"

1034 1/16"
823 1/4"

441 3/4"

261"

722 13/16"

3 9/16" 91

e2

ELEVATION VIEW
Downstream Cable Anchor Assembly

Configuration B

e3

e2

e1

e3

ELEVATION VIEW
Downstream Cable Anchor Assembly

Configuration A

e2e2

e1

Item 
No. QTY. Description Material Specification Treatment 

Specification

- 1 each Downstream Cable Anchor Assembly 
Configuration A-B - ASTM A123*

e1 1 10"x9"x1/2" [254x229x13] Box Beam 
Cable Anchor Base Plate ASTM A36 -

e2 2 4"x4"x1/4" [102x102x6] Box Beam 
Cable Anchor Gusset ASTM A36 -

e3 1 4"x4"x1/2" [102x102x13] Box Beam 
Cable Anchor Mounting Plate ASTM A36 -

* Galvanization not necessary for testing purposes. Can be painted or spray galvanized if desired.



W-Beam Transition

SCALE: 1:4

NYBWT-3_R2

Components

23 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

REV. BY:

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

NY Box Beam to Weak Post

DRAWN BY:

Downstream Cable Anchor 

Test No. NYBWT-3

PROFILE VIEW

1/2" 13

ELEVATION VIEW
Part e2

4" 102

4" 102

PLAN VIEW 1/2" 13

PLAN VIEW
Part e1

7/8" 22
(TYP)

25410"

2299"

512" 6" 152

2" 51

PLAN VIEW 1/4" 6

ELEVATION VIEW
Part e3

51

1024"

1024"

512"

2" 1 1/8" 29



W-Beam Transition

SCALE: 1:4

NYBWT-3_R2

Component Details

24 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

PLAN VIEW
Part i3

13/16" 21
(TYP)

68627"

763"
(TYP)
763"

1 1/2" 38

ELEVATION VIEW

Part i2
SCALE 1:1

7/8" 22

441 3/4"

44

10

1 3/4"

3/8"

7/8" 22

PLAN VIEW

7" 178

1024"

1/2" 13

PROFILE VIEW

3" 76

1/4" 6

ELEVATION VIEW
Part i1

512"

763"

381 1/2"

441 3/4"
441 3/4"

7/8" 22
(TYP)

PROFILE VIEW

38

642 1/2"

1 1/2"

7/8" 22

PROFILE VIEW

10-gauge[3.4]
or approx. equal



W-Beam Transition

SCALE: 1:10

NYBWT-3_R2

Anchor Cable Details

25 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

Notes: (1) Total lengths of the three transition anchor cable assemblies 
are approximately 282" [7,163], 317" [8,052], and 352" [8,941].

Item 
No. QTY. Description Material Specification Treatment Specification Hardware 

Guide
- 3 Transition Anchor Cable Assembly - - -

h1 3 3/4" [19] Dia. UNC, 11" [279] Long Threaded Rod ASTM A307 Gr. A or equivalent ASTM A153 or B695 Class 55 or F2329 RCE03

h2 4 Cable End Fitting ASTM A27 Gr. 70-40 Class 1 ASTM A153 or B695 RCE03

h3 4 Cable Wedge ASTM A47 Gr. 32510 - FMM01

h4 1 Crosby Threaded Turnbuckle Stock No. 1034115 As Supplied -

h6 2 3/4" [19] Dia. 3x7 IWRC IPS Wire Rope - Various Lengths ASTM A741 Type 1 Class A Coating RCM01

h8 1 3/4" [19] Dia. UNC-LH THD, 11" [279] Long Threaded Rod ASTM A307 Gr. A or equivalent ASTM A153 or B695 Class 55 or F2329 RCE03

k5 4 3/4" [19] Dia. Hardened Flat Washer ASTM F436 ASTM A153 or B695 Class 55 or F1136 
Gr. 3 or F2329 FWC20b

k6 2 3/4" [19] Dia. Plain Round Washer ASTM F844 ASTM A123 or A153 or F2329 FWC20a
k10 4 3/4" [19] Dia. UNC Square Nut ASTM A563A or equivalent ASTM A153 or B695 Class 55 or F2329 FNS20

k11 4 3/4" [19] Dia. UNC Hex Nut ASTM A563A or equivalent ASTM A153 or B695 Class 55 or F2329 FNX20a

Item 
No. QTY. Description Material Specification Treatment Specification Hardware 

Guide

- 2 Downstream Cable Assembly - - -

h5 2 BCT Anchor Cable End Swaged Fitting Fitting - ASTM A576 Gr. 1035
Stud - ASTM F568 Class C

Fitting - ASTM A153
Stud - ASTM A153 or B695 -

k9 2 1" [25] Dia. UNC Heavy Hex Nut ASTM A563DH or equivalent ASTM A153 or B695 Class 55 or F2329 FNX24b

k8 2 1" [25] Dia. Plain Round Washer ASTM F844 ASTM A123 or A153 or F2329 FWC24a

h7 1 3/4" [19] Dia. 6x19 IWRC IPS Wire Rope ASTM A741 Type 2 Class A Coating -

h2h1 k10
k11

h2 h2

Transition Anchor Cable Assembly

h6

h3

k6

h3 k10 h1

k5 k6 k5

h2 h3 k10 h8 h4 h1 k10 h3 k11

h6

VARIED

k9

Downstream Cable Assembly

k9 k8 h5 h5 k8h7

78" 1981



1 3/4" 45

1" 25

1/16" 2

5°

1/8" 3

W-Beam Transition

SCALE: 1:3

NYBWT-3_R2

Cable Anchor Components

26 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

ELEVATION VIEW
Part h2

1 3/4" 44

1 1/2" 38

2113/16"

522 1/16" 261"

5 7/8" 149

L

L

M

M

SECTION L-L

2" 51

ELEVATION VIEW
Part h3

1 15/16" 49

2113/16"

9/16" 14

Part h4

1 1/4"
6

44
1/4"

1 3/4"

32012 9/16"

183/4"32

103/8"
14 3/4" 374

PROFILE VIEW

117/16"

R3/16" 5

3/4"-10 UNC [M20x2.5]

Part h1
3/4"-10 UNC [M20x2.5]

Note: (1) Flattened portion of part h1 & h8 not necessary.

11" 279

5/8" 16 572 1/4"

7 1/2" 191

Part h5

1"-8 UNC [M24x3]

1 1/2" 38

38115"

1275"642 1/2"1787"

1 1/4" 32

SECTION M-M
62

2113/16"

2 7/16"

1 3/16" 30 11/16" 17

Part k10

3/4"

1 1/8"

19

29

1 1/8" 29

REAR VIEW

3/16" 5

3/16" 5

Part k11

291 1/8"

3/4" 19

5/8" 16

Part k8

3 7/16" 88

1 1/16" 28

Part k9
251"

1 5/8" 41 1" 25

[M20X2.5 LH]

Part h8

3/4-10 UNC LH THD.

3/4-10 UNC THD
[M20X2.5]

191

27911"

572 1/4"

7 1/2"

5/8" 16



81 1/4" 2064 75" 1905
(TYP)

150" 3810

4 1/8" 105

75" 1905
(TYP)

81 1/4" 2064

31 7/8" 810

2" 518 1/2" 216

6 1/4" 159

6" 152

6 1/4" 159

W-Beam Transition

SCALE: 1:30

NYBWT-3_R2

W-Beam Rail Sections

27 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

Part a1

ELEVATION VIEW

3/4"x2 1/2"[19x64]

Slot (TYP)

S

162 1/2" 4128

Prior to 90  bend to anchor at ground

PLAN VIEW
SHOP CURVED

R240" 6096

42"[1067]
6096R240"

120"[3048]

Part a3

ELEVATION VIEW
U

162 1/2" 4128

PROFILE VIEW

SCALE 1:12
DETAIL T

3/4"x2 1/2" 

[19x64] Slot

1 3/4" 44

227/8"

1 3/4" 44Part a2
ELEVATION VIEW

3/4"x2 1/2"[19x64]

Slot (TYP)

T

914
(TYP)

4128162 1/2"

36" 41 1/8" 1045

SCALE 1:12
DETAIL S

Slot (TYP)

1"x1 1/4" 
[25x32] 

3/4"x2 1/2" 

[19x64] Slot

PROFILE VIEW

Part a4
ELEVATION VIEW

3/4"x2 1/2" 

[19x64] Slot

12" 305

SCALE 1:15
DETAIL U

3/4"x2 1/2" 

[19x64] Slot

686= 27"
763"

9" 229
9 Spaces @ 3"[76]

1" 25
(TYP)

PROFILE VIEW

PROFILE VIEW



6 1/16" 154  I.D.9 3/16" 233

3 1/8" 79

1 1/8" 29

1 1/2" 38

19" 483 8 1/2" 216

6 7/8" 175

4 3/8" 111

4 1/2" 114

W-Beam Transition

SCALE: 1:10

NYBWT-3_R2

Transition Cover

28 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

REV. BY:

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

NY Box Beam to Weak Post

DRAWN BY:

W-Beam to Box Beam 

Test No. NYBWT-3

Part a5
ELEVATION VIEW

Burn, Weld, & Grind Flush

33 1/2" 851
V

V

SECTION V-V

162

13 1/8" 333

118°

FLAT PATTERN
ELEVATION VIEW

12-gauge[2.7] plate

29/32"x1 1/8" 
[23x29] Slot (TYP)

14 1/2" 36845117 3/4"

84533 1/4"

72428 1/2"

(TYP)
1084 1/4"

(TYP)
193/4"

(TYP)
51

13/16" 21
2" 51

1847 1/4"
2"

68 3/4" 1746

PLAN VIEW

33 1/2" 851

3" 76



6" 152

6" 152

6" 152

6" 152

6" 152

6" 152

W-Beam Transition

SCALE: 1:30

NYBWT-3_R2

Box Beam Rail Sections

29 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

PROFILE VIEW

3/16" 5

PLAN VIEW
Part b2

182972"

5474215 1/2"

1144 1/2"1526"1144 1/2" 1526"

1 1/8"
THRU

29
THRU

117/16"

THRU
117/16"

THRU
291 1/8"

(TYP)
76

90835 3/4"90835 3/4"
3"

7/16" 11
THRU

PLAN VIEW

76
(TYP)

1526"1144 1/2"

THRU
291 1/8"

35 3/4" 908

7/16"
THRU

11

182972" 182972"

1144 1/2"1526"

1 1/8"
THRU

29
THRU

117/16"7/16"
THRU

113"

215 1/2" 5474

PLAN VIEW
Part b3

72" 1829

1526"

Field Drilled
THRU

22

5474215 1/2"

1144 1/2"1526"1144 1/2" 1526" 7/8"

90835 3/4"

1 1/8"
THRU

29

THRU
117/16"

THRU
117/16"

THRU
291 1/8" 69527 3/8"

35 3/4" 908

7/16"
THRU

11

3" 76
(TYP)

PROFILE VIEW

3/16" 5

ELEVATION VIEW
Part b1

13/16" 21
THRU

Field Drilled

25410"

(TYP)
44

91436" 36" 914
7/8"

THRU (TYP)
22

31 3/4" 806

1"
THRU

25

1 3/4"

36 3/16"
APPROX.

919

3" 76
(TYP)

PROFILE VIEW
3/16" 5



W-Beam Transition

SCALE: 1:4

NYBWT-3_R2

Box Beam Splice Plate Details

30 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

Assembled Splice Plate and Nuts

k12

ELEVATION VIEW

b4

7/8" 22
(TYP)

ELEVATION VIEW

Tapped for 3/4"-10 Threads

Alternative Splice Plate With Tapped Holes

5/8" 16
(TYP)

68627"

893 1/2"

69

= 9" [229]
@ 3" [76]
3 Spaces

= 9" [229]
@ 3" [96]

2 3/4"

3 Spaces

2 3/4" 70

5 7/16" 138

PROFILE VIEW

5/8" 16

Note: Splice plate with tapped holes may be used instead of splice plate with tack 
welded nuts.

Item 
No. QTY. Description Material 

Specification
Treatment 
Specification

Hardware 
Guide

- 10 Splice Plate with Tack Welded Nuts - ASTM A123 -

b4 1 27"x5 7/16"x5/8" [686x138x16] 
Splice Plate ASTM A36 - -

k12 4 3/4" [19] Dia. UNC Heavy Hex Nut ASTM A563DH or 
equivalent - FNX20b

b4

PROFILE VIEW
prior to assembly.

Tack weld all nuts
to splice plates

k12



W-Beam Transition

SCALE: 1:2

NYBWT-3_R2

Hardware Details

31 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

3/8"-16 UNC [M10x1.5]Part j8

7 1/2" 191
1" 25

Part k3

9/16" 14

1" 25

1/16" 2

Part j1

7/8"-9 UNC [M22x2.5]
8 1/2" 216

1 1/2" 38 3/4"-10 UNC [M20x2.5]
Part j3

2" 51

1/16" 2

3/16" 4

7/16" 11

5/16" 8

Part k2

7/16" 11

1" 25

Part k7

15/16" 24
1 3/4" 44

7/8" 22

Part k6

13/16" 21
2" 51

3/4"-10 UNC [M20x2.5]
Part j2

2 1/2" 64

Part j5
3/4"-10 UNC [M20x2.5]

4 1/2" 114
1 3/4" 44

Part k5
13/16" 21

1 1/2" 37

5/8" 16

Part j4
3/4"-10 UNC [M20x2.5]

8" 203
2" 51

1/2"-13 UNC [M14x2]
Part j7

1 1/2" 38

1/8" 3

1/8" 4

Part k12

3/4" 19

Part j6
1/2"-13 UNC [M14x2]

2" 51

Part k1

11/16" 17

3/8" 9

Part k13

1/4" 7

5/8" 16

1/16" 2

5/16"-18 UNC [M8x1.25]
Part j9

2" 51

1/2" 13

Part j10
5/8"-11 UNC [M16x2]

1 1/4" 32

Part k4

1 1/16" 27

9/16" 13

1/8" 3

Part k14

7/16" 11



W-Beam Transition

SCALE: None

NYBWT-3_R2

Bill of Materials

32 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

Item 
No. QTY. Description Material Specification Treatment Specification Hardware 

Guide
a1 8 12'-6" [3,810] 12-gauge [2.7] W-Beam Section AASHTO M180 ASTM A123 or A653 RWM02a

a2 2 12'-6" [3,810] 12-gauge [2.7] W-Beam Section AASHTO M180 ASTM A123 or A653 -

a3 1 12'-6" [3,810] 12-gauge [2.7] W-Beam Curved Section AASHTO M180 ASTM A123 or A653 RWM11a

a4 6 12" [305] 12-gauge [2.7] W-Beam Backup Plate AASHTO M180 ASTM A123 or A653 RWB01a

a5 1 W-Beam to Box Beam Transition Cover, 12-gauge [2.7] ASTM A36 ASTM A123 or A653 -

b1 1 TS6"x6"x3/16" [152x152x5], 215 1/2" [5,474] Long Box 
Beam ASTM A500 Gr. B ASTM A123 -

b2 4 TS6"x6"x3/16" [152x152x5], 215 1/2" [5,474] Long Box 
Beam ASTM A500 Gr. B ASTM A123 -

b3 1 TS6"x6"x3/16" [152x152x5], 215 1/2" [5,474] Long Box 
Beam ASTM A500 Gr. B ASTM A123 -

b4 10 27"x5 7/16"x5/8" [686x138x16] Splice Plate ASTM A36 - -

c1 33 S3x5.7 [S75x8.5], 65" [1,651] Long Post ASTM A36 - -

c2 33 24"x8"x1/4" [610x203x6] Soil Plate ASTM A36 - -

c3 18 5"x3 1/2"x3/8" [127x89x10], 4 1/2" [114] Long L-
Bracket ASTM A36 ASTM A123 -

c4 2 4"x3"x1/4" [102x76x6], 8" [203] Long L-Bracket ASTM A36 ASTM A123 -

d1 2 W6x15 [W152x22.3], 72" [1,829] Long Post ASTM A992 or ASTM A572 Gr. 50 - -

d2 2 20"x14"x3/16" [508x356x5] Plate ASTM A36 - -

d3 2 6 3/16"x4"x1/2" [157x102x13] Plate ASTM A36 - -

d4 4 6 1/4"x4"x1/2" [159x102x13] Plate ASTM A36 - -

d5 2 6 3/16"x6"x1/2" [157x152x13] Plate ASTM A36 - -

e1 2 10"x9"x1/2" [254x229x13] Box Beam Cable Anchor Base 
Plate ASTM A36 - -

e2 4 4"x4"x1/4" [102x102x6] Box Beam Cable Anchor Gusset ASTM A36 - -

e3 2 4"x4"x1/2" [102x102x13] Box Beam Cable Anchor 
Mounting Plate ASTM A36 - -

f1 2 Concrete
Pre-Cast Class A*                              

Min. f'c = 3,000 psi [20.7 MPa]                   
NE Mix 47BD

- -

f2 2 #3 [10] Bar, 106 5/8" [2,708] Long Unbent ASTM A615 Gr. 60 or A996 Gr. 60 Epoxy-Coated (ASTM A775 or 
A934) ** -

f3 2 #3 [10] Bar, 117 5/8" [2,988] Long Unbent ASTM A615 Gr. 60 or A996 Gr. 60 Epoxy-Coated (ASTM A775 or 
A934) ** -

f4 2 #3 [10] Bar, 127 1/8" [3,229] Long Unbent ASTM A615 Gr. 60 or A996 Gr. 60 Epoxy-Coated (ASTM A775 or 
A934) ** -

* If cast in place, follow Section 501 - Portland Cement Concrete - General of the
  NY state standards.
** Epoxy-coating not necessary for testing purposes.



W-Beam Transition

SCALE: None

NYBWT-3_R2

Bill of Materials

33 of 34

DWG. NAME.

SHEET: 

10/31/2023

DATE:

NY Box Beam to Weak Post

O
GRL/JRD/JJ

 Safety Facility
Midwest Roadside

KALUNITS: in.[mm]

DRAWN BY:

REV. BY:

Test No. NYBWT-3

Item 
No. QTY. Description Material Specification Treatment Specification Hardware 

Guide

f5 8 #3 [10] Bar, 39" [991] Long ASTM A615 Gr. 60 or A996 Gr. 60 Epoxy-Coated (ASTM A775 or 
A934) ** -

f6 16 3/4" [19] Dia. UNC, Hooked Anchor J-Bolt and Nut J-Bolt - ASTM A307 Gr. C            
Nut - ASTM A563DH

ASTM A153 or B695 Class 55 
or F2329 FRH20a

g1 1 14"x9"x1/2" [356x229x13] Cable Anchor Base Plate ASTM A36 - -

g2 4 3"x2"x1/4" [76x51x6] Cable Anchor Gusset ASTM A36 - -

g3 1 14"x3 1/2"x1/2" [356x89x13] Cable Anchor Top Plate ASTM A36 - -

g4 1 1/4" [6] Dia., 16 3/8" [416] Long Brass Rod ASTM B16-00 - -

h1 9 3/4" [19] Dia. UNC, 11" [279] Long Threaded Rod ASTM A307 Gr. A or equivalent ASTM A153 or B695 Class 55 
or F2329 RCE03

h2 12 Cable End Fitting ASTM A27 Gr. 70-40 Class 1 ASTM A153 or B695 RCE03

h3 12 Cable Wedge ASTM A47 Gr. 32510 - FMM01

h4 3 Crosby Threaded Turnbuckle Stock No. 1034115 As Supplied -

h5 4 BCT Anchor Cable End Swaged Fitting Fitting - ASTM A576 Gr. 1035
Stud - ASTM F568 Class C

Fitting - ASTM A153
Stud - ASTM A153 or B695 -

h6 6 3/4" [19] Dia. 3x7 IWRC IPS Wire Rope - Various 
Lengths ASTM A741 Type 1 Class A Coating RCM01

h7 2 3/4" [19] Dia. 6x19 IWRC IPS Wire Rope - Various 
Lengths ASTM A741 Type 2 Class A Coating -

h8 3 3/4" [19] Dia. UNC-LH THD, 11" [279] Long Threaded 
Rod ASTM A307 Gr. A or equivalent ASTM A153 or B695 Class 55 

or F2329 RCE03

i1 3 7"x4"x1/2" [178x102x13], 3" [76] Long L-Bracket ASTM A36 ASTM A123 -

i2 20 1 3/4"x1 3/4"x10-gauge [44x44x3.4] Square Washer ASTM A36 ASTM A123 -

i3 1 27"x3"x1/4" [686x76x6] Washer Plate ASTM A36 ASTM A123 -

j1 2 7/8"-9 UNC [M22x2.5], 8 1/2" [216] Long Heavy Hex 
Head Bolt and Nut

Bolt - ASTM F3125 Gr. A325 Type 1 or 
equivalent

Nut - ASTM A563DH or equivalent

ASTM A153 or B695 Class 55 
or F1136 Gr. 3 or F2329 or 

F2833 Gr. 1
FBX22b

j2 2 3/4"-10 UNC [M20x2.5], 2 1/2" [64] Long Fully 
Threaded Heavy Hex Head Bolt

Bolt - ASTM F3125 Gr. A325 Type 1 or 
equivalent

Nut - ASTM A563DH or equivalent

ASTM A153 or B695 Class 55 
or F1136 Gr. 3 or F2329 or 

F2833 Gr. 1
FBX20b

j3 38 3/4"-10 UNC [M20x2.5], 2" [51] Long Fully Threaded 
Heavy Hex Head Bolt

Bolt - ASTM F3125 Gr. A325 Type 1 or 
equivalent

Nut - ASTM A563DH or equivalent

ASTM A153 or B695 Class 55 
or F1136 Gr. 3 or F2329 or 

F2833 Gr. 1 
FBX20b

j4 11 3/4"-10 UNC [M20x2.5], 8" [203] Long Hex Head Bolt 
and Nut

Bolt - ASTM A307 Gr. A or equivalent
Nut - ASTM A563A or equivalent

ASTM A153 or B695 Class 55 
or F2329 FBX20a

j5 2 3/4"-10 UNC [M20x2.5], 4 1/2" [114] Long Hex Head 
Bolt and Nut

Bolt - ASTM A307 Gr. A or equivalent
Nut - ASTM A563A or equivalent

ASTM A153 or B695 Class 55 
or F2329 FBX20a

j6 2 1/2"-13 UNC [M14x2], 2" [51] Fully Threaded Long Hex 
Head Bolt ASTM A307 Gr. A or equivalent ASTM A153 or B695 Class 55 

or F2329 FBX14a

*

*

* If using the alternate splice plates with tapped holes, 
  these hex bolts can be 1/2" [13] shorter.



Bill of Materials

KAL

10/31/2023

Midwest Roadside

34 of 34

NYBWT-3_R2

DWG. NAME.

UNITS: in.[mm]
 Safety Facility

NY Box Beam to Weak Post

O
GRL/JRD/JJ

DATE:W-Beam Transition

SCALE: None

SHEET: 

DRAWN BY:

REV. BY:

Test No. NYBWT-3

Item 
No. QTY. Description Material Specification Treatment Specification Hardware 

Guide

j7 18 1/2"-13 UNC [M14x2], 1 1/2" [38] Long Fully Threaded 
Hex Head Bolt and Nut

Bolt - ASTM A307 Gr. A or equivalent
Nut - ASTM A563A or equivalent

ASTM A153 or B695 Class 55 
or F2329 FBX14a

j8 18 3/8"-16 UNC [M10x1.5], 7 1/2" [191] Long Hex Head 
Bolt and Nut

Bolt - ASTM A307 Gr. A or equivalent
Nut - ASTM A563A or equivalent

ASTM A153 or B695 Class 55 
or F2329 FBX10a

j9 8 5/16"-18 UNC [M8x1.25], 2" [51] Long Fully Threaded 
Hex Head Bolt

Bolt - ASTM A307 Gr. A or equivalent
Nut - ASTM A563A or equivalent

ASTM A153 or B695 Class 55 
or F2329 FBX08a

j10 76 5/8"-11 UNC [M16x2], 1 1/4" [32] Long Guardrail Bolt 
and Nut

Bolt - ASTM A307 Gr. A                          
Nut - ASTM A563A

ASTM A153 or B695 Class 55 
or F2329 FBB01

k1 8 5/16" [8] Dia. Hardened Flat Washer ASTM F436 ASTM A153 or B695 Class 55 
or F1136 Gr. 3 or F2329 -

k2 36 3/8" [10] Dia. Plain Round Washer ASTM F844 ASTM A123 or A153 or F2329 FWC10a

k3 18 1/2" [13] Dia. Plain Narrow Round Washer SAE Low Carbon Gr. 2 ASTM A153 or B695 Class 55 
or F1136 Gr. 3 or F2329 -

k4 2 1/2" [13] Dia. Hardened Flat Washer ASTM F436 ASTM A153 or B695 Class 55 
or F1136 Gr. 3 or F2329 FWC14b

k5 74 3/4" [19] Dia. Hardened Flat Washer ASTM F436 ASTM A153 or B695 Class 55 
or F1136 Gr. 3 or F2329 FWC20b

k6 17 3/4" [19] Dia. Plain Round Washer ASTM F844 ASTM A123 or A153 or F2329 FWC20a

k7 4 7/8" [22] Dia. Hardened Flat Washer ASTM F436 ASTM A153 or B695 Class 55 
or F1136 Gr. 3 or F2329 FWC22b

k8 4 1" [25] Dia. Plain Round Washer ASTM F844 ASTM A123 or A153 or F2329 FWC24a

k9 4 1" [25] Dia. UNC Heavy Hex Nut ASTM A563DH or equivalent ASTM A153 or B695 Class 55 
or F2329 FNX24b

k10 12 3/4" [19] Dia. UNC Square Nut ASTM A563A or equivalent ASTM A153 or B695 Class 55 
or F2329 FNS20

k11 12 3/4" [19] Dia. UNC Hex Nut ASTM A563A or equivalent ASTM A153 or B695 Class 55 
or F2329 FNX20a

k12 40 3/4" [19] Dia. UNC Heavy Hex Nut ASTM A563DH or equivalent - FNX20b

k13 16 5/16" [8] Dia. UNC Hex Nut ASTM A563A or equivalent ASTM A153 or B695 Class 55 
or F2329 FNX08a

k14 4 1/2" [13] Dia. UNC Hex Nut ASTM A563A or equivalent ASTM A153 or B695 Class 55 
or F2329 FNX14a

*

* If using the alternate splice plates with tapped holes, these additional hex nuts are not required.

Washer Washer 
Series

Inside Diameter Outside Diameter Thickness

Basic
Tolerance

Basic
Tolerance

Basic Max. Min.
Plus Minus Plus Minus

3/4"

Regular 
(k5) 0.812" 0.03" 0.007" 1.469" 0.03" 0.007" 0.134" 0.16" 0.108"

Wide  
(k6) 0.812" 0.03" 0.007" 2" 0.03" 0.007" 0.165" 0.192" 0.136"



System: NY Box Beam to W-Beam Transition

Drawing: NYBWT-3

Revision History

REV. DATE OF ISSUE Page NATURE OF CHANGES REVIEWER REVISED BY

0 6/14/2018 - Created from NYBWT-2_0. - GRL

- Renamed HFT anchor assembly to downstream anchor post assembly.

1 Edited downstream anchor annotation and note 4.

3 Edited downstream anchor post assembly annotation.

10 Edited downstream anchor post assembly annotation.

20 Renamed sheet and BOM to downstream anchor post assembly.

21 Renamed sheet to downstream anchor post components.

All Changed description to NY Box Beam to Weak Post.

2 Corrected a4 backing plate location, updated detail views I & J

8 Added splice plate note.

25
Updated transition anchor cable to show correct LH threaded part in 

turnbuckle.

26 Added threaded rod detail part no h8.

BOM Updated BOM with part no h8.

1 8/23/2019 KAL JRD

2 10/31/2023 KAL JJO


	NYBWT-3_R2 - 1
	NYBWT-3_Revision History


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


